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3. Michel invests $850 at 7%/a simple interest. How long will he
have to leave his investment in the bank before earning $200 in interest?
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4. Sally has a balance of $2845 on her credit card. What rate of simple interest is
she being charged if she must pay $26.19 interest for the 12 days her
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payment is late?
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6. Mario borrows $4800 for 8.5 years at a fixed rate of simple interest. At the
end of that time, he owes $8000. Whart interest rate is he being charged?

T=A-F
TI= Koo — HED

T = 2200
I P€
320 —~ oo (f)(g S)

3200 = C{—ogOO r

0.038 =¢

= rade =28 /

May 25-12:48



7.50 Simple and Compound Interest.notebook

May 31, 2018

7. How much money must be invested at 6.3%/a simple interest to earn $250
in interest each month?

T =t /
250= Plock7)

May 25-12:49

11. Len invests $5200 at 3%/a simple interest, while his friend Dave invests
i $3600 at 5%/a simple interest. How long will it take for Dave’s investment to

be worth more than Len’s? A — P +Pft
len = A = S2oo + S20(0.53(¢)
4 = S200+ ISEE
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A = 360 + I8t
Fod & for oobon oy hove g et
S 3o +ifoE =520 IRE
%ot ~ (56t = 20~ 3600

26t =160
"2(/_ A S

‘= 462/3 Years

May 25-12:49



7.50 Simple and Compound Interest.notebook

May 31, 2018

Solutions

Nov 20-18:35
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b)
c)
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1. Copy and complete the table.

in gears  perod #

Rate of Interest Rate per| Number of
Compound Compounding Compounding | Compounding
Interest per Year | Period Time Period, i Periods, n
5.4% semi-annually | 5 years _%& =0.83FCx2 =[O
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4. For each investment, determine the future value and the total interest earned.

Rate of Compound | Compounding
Principal Interest per Year Period Time

a) $4 000 3% annually 4 years

b) $7 500 6% monthly 6 years

c) $15 000 24% quarterly 5 years

d) $28 200 5.5% semi-annually 10 years

e) $850 3.65% daily Tyear | RR|, Lo
f) $2 225 5.2% weekly 47 weeks

()5/}\5 the forerula
A = P(/‘/‘L)n
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10. Eric bought a $1000 Canada Savings Bond that earns 5%/a compounded

annually. Eric can redeem the bond in 7 years. Determine the future value of

the bond. AN F = |000
A= P(‘ + (-> [ = 2:9%
3 [
A= looo<1.05> N = 2>xl

A= $leorlo
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11. Dieter deposits $9000 into an account that pays 10%/a compounded
quarterly. After three years, the interest rate changes to 9%/a compounded
semi-annually. Calculate the value of his investment two years after
this change.
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1. Calculate the present value of each investment. Rate of
Compound
Interest

Compounding
eri

Time

Future
Value

OS‘/B A - P('+L)’\ a) Pe'4\::ar

10 years

$10 000

b)| 62%

5 years.

$100 000

quarterly

15 years

$23 000

.“f\ 5.2%
= pP=A(+) =

monthly

100 years

$2 500
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= $?Bé°lo.gl - ISx Y
o) 9:23000('*"?
p = 22000(1.013)
P=3(0SHYF  _iexie
4) P= 25001+ -200
p= 2500 (1.0055)

p=5346
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monthly. Who has to invest more money to reach his goal?

Kevin
P = locao(14+ 5
P = loooo (/-OS>_
p= 13726887

~20x|
0.05 >)

P=A(+)"

2. Kevin and Lui both want to have $10 000 in 20 years. Kevin can invest at
5%/a compounded annually and Lui can invest at 4.8%/a compounded

L

20 P-= loooo(w
p= /oooo</,oo'-l—)
P= $3836.2%
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5. Nazir saved $900 to buy a plasma TV. He borrowed the rest at an interest
rate of 18%/a compounded monthly. Two years later, he paid $1429.50 for
the principal and the interest. How much did the TV originally cost?

P=A(1+0) "
P = 42950 (1+22

P=1¥29.50(.ols) 7

= jj[ooo S /)mov\r\/’ bo(rouJeoQ
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= (ost of TV = 900 100
= $ 190
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